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(Answer the following questions)

1 Choose the correct answer [8 Marks]
(1) . . . d%y S dy\3 _ :

The order of differential equation (EZ-) +6 (;l—x-) = tanx is

(a) first (b) second (c) third
(2) | The differential equation tany dx — x sec? y dy = 0 is an exact

(a) true (b) false
(3) | The form of a particular solution y, of "' +2y'+y=e % is

(a) y, = Ae™* (b) y, = Axe™ (©) yp = Ax*e™
(4) | If f(¢) is piecewise continuous on [0, ), of exponential order, and periodic with

period T, then

1 T
L) = =7 | Tt
0
(a) true (b) false
F

) | 1£e{f()} = F(s) then € { [y f(2) dz } Fs)

(a) true (b) false
(6) : s? |

The function F(s) = 2.5 has no Laplace transform

(a) true (b) false
(7) 2t

£{e*tsin 7t} =

{e*' sin 7t} G-2)2—49

(a) true (b) false

(8) —as

PU(t— a)} = -2

s
(a) true (b) false




Solve the differential equation:

y'+y=cotx

[5 Marks]




3(a)

Solve the differential equation:

@
—=2+

y—2x+4

[4 Marks]

3 (b)

Evaluate: £{tcos?t}

[3 Marks]




4 (a)

Solve f(t) = 3t% — fotf(‘c)et'Tdr for f(t).

[4 Marks]

4 (b)

Evaluate: -E{ fot e’ sin(t — 1) dr}

[3 Marks]




Use the Laplace transform to solve the IVP: [4 Marks]

y'+9y=¢et, y(0)=0,y(0)=0




6 Evaluate: [9 Marks]
2s [3 Marks]
. —1
M |* {52 + 4s + 10}
. : . [3 Marks]
(ii) £ {sm t U (t 2)}
o | p1 (S =R [3 Marks]
it | £ g0 )




